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General Instructions: 

(i) The question paper is divided into four sections A, B, C, and D 

Section A: Reading:-        20 Marks 

Section B: Writing:-         20 Marks 

Section C: Grammar:-     15 Marks 

Section D: Literature:-    25 Marks 

(ii) All questions are compulsory. 

 

Section- A (Reading) 20 Marks 

 

Q.1. Read the following passage carefully:  (5 marks) 

A very poor peasant bought a plot of land from a farmer who owned vast tracts of agricultural land. His wife 

became very happy. At last, they had a patch of land to call their own. The poor peasant toiled from morning 

to night in the hope of reaping a good harvest. But the rains were delayed and all his hopes were dashed as 

the crops dried up. The farmer was very sad but did not lose hope.  

He again toiled hard for the next harvest. One day, while he was ploughing the fields, he came upon an iron 

box buried deep in the ground. When he opened it, he was astonished to discover that it was filled with 

precious gemstones and coins made of silver and gold. He ran home and showed the treasure to his wife. 

The wife immediately started making plans on how they would spend the treasure. 

 On the basis of your reading of the passage, answer the following questions. 

a) From whom did the poor peasant buy the plot of land?                                           (1 Mark) 

b) Why did the crops fail?                                                                                            (1 Mark) 

c) Why did the peasant toil in his land?                                                                       (1 Mark) 

d) What did the peasant find one day while ploughing the land? Why was he astonished? 

                                                                                                                                     (2 Marks) 

Q.2. Read the following poem carefully and answer the questions that follow. (5 marks) 

Elegy Written in a Country Churchyard 

The darkness tolls bell of parting day, 

The lowing herd winds slowly o‟er the meadow, 

The ploughman homeward walks slowly his weary way, 
And leaves the world to darkness and to me. 

Now fades glimmering landscape on the sight, 

And all the air a solemn stillness holds, 
Save where the beetle wheels his drowning flight, 

And drowsy tinklings lull the distant folds; 

Save that from yonder ivy-mantled tower 

The distressed owl does to the moon complain 
Of such, wandering the secret bower, 

Molest her ancient solitary reign. 

i) For what does the evening bell ring?  (1mark) 

ii) How does the farmer return home?  (1 mark) 

iii) What does the air hold?  (1mark) 

iv) To whom does the owl complain?  (1 mark) 

v) Find the word in the poem which means „shining‟.  (1 mark) 

 



 

 

3. Read the passage given below. 

Getting a good night‟s sleep can help you cope with stress more effectively. But not getting enough sleep can cause 

more stress. Insomniacs have higher concentrations of stress hormones than others. 
 

Women are prone to sleep disturbances. Their sleep problems frequently interfere with their daily activities. 

Experts believe that sleep, especially deep sleep, enables our nervous system to function well. Without it, we lose our 
ability to concentrate, remember or analyse. Some experts speculate that during deep sleep, cells manufacture more 

proteins, which are essential for cell growth and repair of damage from things like stress and ultraviolet rays. 

Scientists believe that activity in the area of the brain that controls emotions and social interactions lessens during 
sleep and that deep sleep may help people be emotionally and socially adept when awake. 

 

Sleep may also help our brain to store a newly learned activity in its memory bank. In a study in Canada, students 

deprived of sleep after learning a complex logic game showed a 30 percent learning deficit when tested a week later 
compared with students not deprived of sleep. 

 

Q.3.A. On the basis of your reading of the above passage, answer the following questions by choosing the 

correct option.                                                                                                  (5x1=5marks) 

a) A good night‟s sleep can help you…………….. 

i) in building muscles                                       ii) in getting peace 

iii) in relaxation                                                iv) in easing mental and physical pressure 

 

b) Women are prone to……………………………. 

i) sleep more                                                      ii) sleep less 

iii) sleep disturbances                                        iv) sleep late at night 

 

c) A deep sleep tones up………………………….. 

i) our digestive system                                       ii) our nervous system 

iii) our respiratory system                                 iv) our muscular system 

 

d) Students deprived of good sleep…………………………. 

i) develop insomnia                                          ii) develop fatigue 

iii) develop learning deficit                                iv) develop learning power 

 

e) The word „deprived‟ in the means the same as_____________ 

i) blessed                         ii) denied                         iii) cursed                      iv) neglected 

 

3. B. Answer the following questions.                                                                        (5x1=5 marks) 

a) What is the consequence of sleep problems faced by women? 

b) According to experts what will happen to us without deep sleep? 

c) What is the benefit of deep sleep as speculated by some experts?  

d) Find the word in the passage which means „those who don‟t enjoy sleep‟. 

e) Find the word in the passage which means opposite to „incompetent‟. (para-2) 

 

SECTION- B (WRITING) 20 MARKS 

Q.4. You are Akshaya/ Ankit, the School Captain of your school. Write a notice in not more than 50 words, 

informing all the class monitors from classes VI to X about a meeting regarding their daily duties. Provide 

all the necessary details.                                                                                                                 (5 marks) 

Q.5. Write an application in about 80-100 words for a week‟s leave to the principal of your school as you 

are unable to attend the school because of viral fever.                             (7 Marks) 

 

Q.6. On the basis of given hints write a story in your own words (in about 200 words) and give a suitable 

title.                                                                                                          (8 Marks) 



A crow carrying a piece of meat …………a fox noticed……….fox made a plan……..flatters the 

crow…………requested the crow to sing………….the crow overjoyed……….the crow began to 

sing…………the piece of meat fell down…………….the fox picked it up…………the crow regretted his 

foolishness………… moral of the story….. 

 

SECTION- C (GRAMMAR) 15 MARKS 

Q.7. The following passage has not been edited. There is a word missing in each line. Write the missing 

word along with the word which comes before it and the one that comes after as shown in the example.                                                                                                

                                                                                                                                             
𝟏

𝟐
× 𝟔 = 𝟑 𝐦𝐚𝐫𝐤𝐬                                                                               

       Before   Word   After                                                                                                                        

Plants derive their food both the earth     e.g.       both                from                     the 

And the air. If you minutely look their                (a)    ………            .….......                 …......... 

roots, you find that the ends of their                   (b)   ………..            …………             ..……..... 

roots like fine fibers. We call them root –hairs.  (c)    ………..           ………..…           …..…….  

They also absorb water minerals and                  (d)   ...……..               ………..            ………… 

transport upwards to the leaves through              (e)   ............                ............               ............... 

the trunk the branches.                                         (f)  ............                 ..............             ................. 

 

Q. 8. Read the conversation below and complete the passage that follows.                                           (1x3=3 marks) 

Neela: Hi! Suresh, How are you? 

Suresh: Life‟s rather tough. I need a job. 

Neela: What kind of a job are you interested in? 

Suresh: I am interested in administrative accounts. 

Neela: Would you mind going abroad? 

 

Neela on meeting Suresh asked him how he was. Suresh replied that he was on the lookout for a job. Neela (a) 

______________________. Suresh told her that (b) _______________________. She further enquired (c) 

_____________________________ . 

 

Q.9. Do as Directed:                                                                                                               (7x1=7 marks) 

a) Just ……… (few / a few / the few) persons were present there. (Use the suitable option) 

b) Hard work and …………… (Persist) is the key to success. (Use the suitable form of the word given in 

bracket) 

c) …………….. (Overwhelming) by gratitude, we bowed to the speaker for his valuable advice. (Use the 

correct form of the word given in bracket) 

d) when I …….. (reach) home everybody ………… (go) to bed except the dog. (fill in the blanks with 

correct forms of the verbs given in the brackets) 

e) I ……………… (will/would/have to) cut my hair every month. (Fill in the blanks appropriately) 

f) The train was late…………….. 3 hours. (Use the correct preposition to fill up) 

g) She said that she__________        __________ (have quarrel) with a boy. (Fill in the blanks using the 

correct form of the verbs in brackets) 

 

Q.10. Use the following words/phrases/idioms in sentences of your own.                    (2x1=2 marks) 

a) Scruples   b) Put out 

 

 

 

 

 



Section-D (Literature)- 25 marks 

 

Q.11. Choose any one of the two extracts given below and answer the questions that follow.  (3x1=3 marks) 

How can the bird that is born for joy, 

Sit in a cage and sing. 

How can a child when fears annoy, 

But droop his tender wing, 

And forget his youthful spring. 

a. A bird is born for ………….. (1 mark) 

b. A bird cannot sing when ……………. (1 mark) 

c. A child ……………………………….. when annoyed by fears.  (1 mark) 

OR 

When I set out for Lyonnesse 

A hundred miles away, 

The rime was on the spray; 

A starlight lit my lonesomeness. 

a. Lyonnesse was ………………… away from the poet‟s home.   (1 mark) 

b. The weather was ……………… at the time of the poet‟s journey.  (1 mark) 

c. …………………….. lit the poet‟s lonesomeness.  (1 mark) 

Q.12. Who said this and to whom?                                                                     (2x1=2 marks) 

a) “I find it amusing when people patronize me.” 

b) “If an old prophecy should come to pass we may see a man some time, with exactly such face as that.” 

 

Q.13. Answer any four of the following questions in about 30 words each.               (4x2=8 marks) 

a) What made the poet proclaim Ernest was the likeness of the Great Stone Face? 

b) How does one mistake the shrill sound of a cricket to be a grasshopper‟s song? 

c) Which two unwelcome visitors came to Mussoorie during the Monsoon? Why were they unwelcome? 

d) Why does the writer refer to the guitar incident? Which idea does it support? 

e) How does the duck want to pass his life? What request does the duck make to the kangaroo? 

 

Q.14. Answer any four of the following questions in about 30 words each.              (4x2=8 marks) 

a) What was the result of the first fight between Suraj and Ranji? 

b) What was the great tragedy that the girl Vera referred to? 

c) What problem did the boy face after eating jalebis? 

d) How was Duttada obsessed with his telescope? 

e) Is Velu happy or unhappy to find work? Give a reason for your answer. 

 

Q.15. Imagine that you are Jim. You have returned to your hometown after the war. Describe the situation 

how you feel about the changes you see and the events that occur in your town in the context of the lesson 

„The Best Christmas Present in the World‟. 

OR 

“I agree that there has been no major disaster; but there could have been some. Do you know how they were 

averted?” Indrani Debi said with quite confidence. In this regard imagine yourself as Duttada and describe 

your rational thinking against Indrani Debi‟s „superstitious‟ belief       (1x4=4) 
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ijek.kq ÅtkZ f’k{k.k laLFkk 

v.kq’kfDruxj] eqacbZ & 400094 

okf"kZd ijh{kk ¼VeZ &।।½ ¼2017&18½ 
d{kk& vkBoha                 le;% 3 ?kaVk 

fo"k;&fgUnh                          iw.kkZad&80 

funZs’k& 1- bl iz’u i= ds pkj [kaM gS a& d] [k] x] ?kA 
  2- pkjksa [kaMksa ds iz’uksa ds mÙkj nsuk vfuok;Z gSA 

  3- v{kjksa dh lqUnjrk vkSj LoPNrk ij /;ku nsaA 

 

[kaM ^d* 

1- fuEufyf[kr x|ka’k dks i<+dj uhps fn, x, iz’uksa ds mÙkj nhft,A 

lalkj ds fdlh Hkh dksus esa pys tk,W lHkh txg jgus okyk ekuo yxHkx ,d 

tSls LoHkko ls Hkjk feyrk gSA ns’k] dky rFkk ifjfLFkfr;ksa ds vuqlkj [kku&iku] 

jgu&lgu esa pkgs FkksM+k cgqr vUrj utj vkrk gks fdarq mudh vko’;drk,¡ 

yxHkx ,d leku ikbZ tkrh gSaA fgUnw] eqlyeku] flD[k] ;gwnh vkfn lc ekuo ds 

Lo;a ds cuk, gq, gSaA ewyr% lc ,d gh Hkk¡fr [kkrs&ihrs] lksrs&tkxrs] g¡lrs&cksyrs 

fn[kkbZ nsrs gSaA bruk gh ugha ’kkjhfjd vkd`fr esa Hkh fo’ks"k varj ugha fn[k iM+rkA 

blfy, fdlh us lp dgk gS Hkxoku] [kqnk] vYykg] okfgxq: lHkh txfUu;rk ’kfDr 

ds fofHkUu uke gSa rFkk ekuo ek= mlds iq= ,oa iqf=;k¡ gSA bl izdkj lkjk fo’o 

,d ifjokj dh Hkkafr gSA ;fn ge blh Hkkouk ls dsoy ekuo /keZ dks lokZsifj le> 

dj jgsa rks fo’o&’kkafr ,oa ln~Hkko c<+ ldrk gSA 

¼d½ fofHkUu /keZ rFkk lEiznk; fdlus cuk, gSa\          1 

¼[k½ bZ’oj ds D;k&D;k uke gSa\             1 

¼x½ lalkj dk ekuo dSls LoHkko ls Hkjk feyrk gS\          1 

¼?k½ ^lalkj* dk i;kZ;okph ’kCn fyf[k,A           1 

¼³½ [kku&iku] jhfr&fjokt vkfn dk varj D;ksa gS\          2 

¼p½ /kjrh ij LoxZ dSls cuk;k tk ldrk gS\           2 

¼N½ fo’o ,d ifjokj dh HkkWafr gS] dSls\           2 

 

2- fuEufyf[kr dkO;ka’k dks i<+dj iz’uksa ds mÙkj nhft,& 

eSa etnwj eq>s nsoksa dh cLrh ls D;k& 

vxf.kr ckj /kjk ij eSaus LoxZ cuk,A 

vacj ij ftrus rkjs] mrus o"kkZs ls]  
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esjs iqj[kksa us /kjrh dk :i l¡okjkA 

/kjrh dks lqUnjre~ djus dh eerk esa] 

fcrk pqdk gS] dbZ ihf<;k¡ oa’k gekjkA 

vkSj lHkh vkxs vkus okyh lfn;ksa esa] 

esjs oa’kt m)kj djsaxsA 

bl I;kjh /kjrh ds fgr eSa gh yk;k Fkk] 

fge fxjh phj lq[kn xaxk dh fueZy /kkjkA 

eSaus jsfxLrkuksa dh jsrh /kks&/kksdj] 

ca/;k /kjrh ij Hkh Lof.kZe iq"i f[kyk;s 

eSa etnwj eq>s nsoksa dh cLrh ls D;k\ 

 ¼d½ ^eSa* fdlds fy, iz;qDr gS\            1 

 ¼[k½ etnwj fdruh ckj /kjk ij LoxZ cuk, gSa\          1 

 ¼x½ /kjrh dk m)kj fduds }kjk gksxk\           1 

 ¼?k½ /kjrh dk :i fdlus l¡okjk gS\           1 

 ¼³½ xaxk dh /kkjk dSlh gS\             2 

 ¼p½ ^ca/;k /kjrh ij Lof.kZe Qwy f[kyk,* dk vk’k; Li"V dhft,A       2 

¼N½ xaxk fdl ioZr ls fudyh gS\ og dSlh gS\          2 

 

[kaM ^[k* 

3- ¼d½ fnYyh] ’kgj] ioZr] ;equk] tkfrokpd laKk Nk¡Vdj fyf[k,A        1 

¼[k½ }a} lekl ds nks mnkgj.k fyf[k,A           1  

¼x½ ^Qy* ’kCn ls ,d okD; cukb, ysfdu Qy nks ckj vkuk pkfg, vkSj ’kCnksa ds vFkZ 

esa cnyko gksuk pkfg,A               1 

¼?k½ ^lw;Z* ds nks i;kZ;okph ’kCn fyf[k,A           1 

¼³½ ikuh ijkr dks gkFk Nq;ks ufga] uSuu ds ty lks ix /kks,A vyadkj crkb,A 1 

4- ¼d½ ^vuq*] ^ifj* milxkZsa dh lgk;rk ls nks&nks ’kCn cukb,A        2 

¼[k½ ^dkj* vkSj ^bZ* izR;; ls nks&nks ’kCn cukb,A          2 

¼x½ eqyqd] [kek] etwjh] X;ku] bu ’kCnksa ds [kM+h cksyh :i fyf[k,A       2 
¼?k½ fnu] ’osr] ’khr] gkfu ’kCnksa ds foykse ’kCn fyf[k,A         2 

5- nqe nckdj Hkkxuk] pkjksa [kkus fpÙk gksuk eqgkojksa dk okD;ksa esa iz;ksx dhft,A   2 
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[kaM ^x* 

6- fuEufyf[kr x|ka’k dks i<+dj iwNs x, iz’uksa ds mÙkj nhft,A 

{kh.k pk¡nuh esa o`{kksa dh Nk;k ds uhps og cl cM+h n;uh; yx jgh FkhA yxrk 

tSls dksbZ o`)k Fkddj cSB xbZ gksA gesa Xykfu gks jgh Fkh] cspkjh ij yndj ge 

pys vk jgs gSaA vxj bldk izk.kakr gks x;k rks bl fo;koku esa gesa bldh varsf"V 

djuh iM+sxhA 

     ¼d½ ys[kd vkSj ikB dk uke fyf[k,A           1 

     ¼[k½ pyrs&pyrs cl dgk¡ [kjkc gksdj #d xbZ Fkh\         2 

 

7- fuEufyf[kr i|ka’k dks i<+dj iwNs x, iz’uksa ds mÙkj nhft,A 

lhl ixk u >¡xk ru esa] izHkq tkus dks vkfg cls dsfg xzkekA 

/kksrh QVh lh yVh nqiVh] v# ik¡; mikug dh ugha lkekAA 

}kj [kM+ksa f}t nqcZy ,d] jg;ks pfdlksa clq/kk vfHkjkekA 

iwNr nhun;ky dks /kke] crkor vkiuksa uke lqnkekAA 

¼d½ dfo rFkk dfork dk uke crkb,A           1 

¼[k½ lqnkek fdl gky esa Jhd`".k ds ikl x, Fks\         2 

 

8- fuEufyf[kr iz’uksa esa ls fdUgh pkj iz’uksa ds mÙkj nhft,A              (4X2=8) 

¼d½ e’khuh ;qx ls cnyw ds thou esa D;k cnyko vk;k\ 

¼[k½ nks"kksa dk inkZQk’k djuk dc cqjk :i ys ldrk gS\ 

¼x½ vksl dh cw¡n Øks/k vkSj ?k`.kk ls D;ksa dk¡i mBh\ 

¼?k½ fcyoklh th us #i;ksa dk izca/k dgk¡ ls fd;k Fkk\ 

¼³½ izkjaHk esa lkbZfdy vkUnksyu dks pykus esa dkSu&dkSu lh ck/kk vkbZ\ 

¼p½ ys[kd isM+ksa dks nq’eu D;ksa le> jgk Fkk\ 

 

9- fuEufyf[kr esas fdUgh rhu iz’uksa ds mÙkj nhft,A         (3X2=6)   

¼d½ dchj ?kkl dh fuank djus ls D;ksa euk djrs gSa\ 

¼[k½ Jh d`".k vius pksVh ds fo"k; esa D;k lksp jgs Fks\ 

¼x½ fpfM+;k pksap esa frudk nckdj mM+us dh rS;kjh esa D;ksa gSa\ og frudksa dk D;k 

djrh gksxh\ 

¼?k½ eD[ku pqjkrs vkSj [kkrs le; Jh d`".k FkksM+k&lk eD[ku D;ksa fc[kjk nsrs Fks\ 

¼³½ lqnkek dh nhu n’kk ns[kdj Jh d`".k dh D;k euksn’kk gqbZ\ 
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10- fuEufyf[kr iz’uksa esa ls fdgha pkj iz’uksa ds mÙkj nhft,A          4 

      ¼d½ vosLrk dh jpuk dgk¡ gqbZ Fkh\ 

      ¼[k½ pk.kD; dh izfl) jpuk dk uke crkb,A 

      ¼x½ egewn xtuoh dkSu Fkk\ 

      ¼?k½ vdcj ds izfl) jktLo ea=h dk uke crkb,A 

      ¼³½ Hkkjr esa eqxy lkezkT; dh uhao fdlus Mkyh\ 

 

11- fuEufyf[kr iz’uksa esa ls fdUgha rhu iz’uksa ds mÙkj nhft,A           (3X2=6)    

   ¼d½ eq[; :i ls Hkkjr dh fdu&fdu iqLrdksa dk vuqokn vjch esa gqvk\ 

   ¼[k½ egkjktk j.kthr flag dk jkT; dSlk vkSj dgk¡ ls dgk¡ rd Fkk\ 

¼x½ jktkjke eksgu jk; ds fo"k; esa vki D;k tkurs gSa\ 

¼?k½ foosdkuan us iki fdls dgk gS\ 

¼³½ vdcj dk lkezkT; etcwr dSls cuk jgk\ 

 

[kaM ^?k* 
 

12- uxj dh lQkbZ gsrq LokLF; vf/kdkjh dks i= fyf[k,A        5 

vFkok 

    ijh{kk esa izFke vkus ij fe= dks c/kkbZ i= fyf[k,A 

 

13- fuEufyf[kr esa ls fdlh ,d fo"k; ij yxHkx 200 ’kCnksa esa fuca/k fyf[k,A   10 

       ¼d½ vuq’kklu dk egÙo  

       ¼[k½ x.kra= fnol 

       ¼x½ gksyh 

       ¼?k½ dEI;wVj dk egÙo   

 

 

&&&&&&&&&&&&&&&&&&&& 
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ATOMIC ENERGY EDUCATION SOCIETY, MUMBAI 

TERM-II EXAMINATION, MARCH-2018 
 

CLASS: VIII                                                    TIME ALLOWED: 3 Hrs 

SUBJECT: MATHEMATICS                        MAXIMUM MARKS: 80 

GENERAL INSTRUCTIONS 

1. This paper consists of four sections. 

2. Section A has 10 multiple choice questions and each question carries 1 mark. 

3. Section B has 10 questions and each question carries 2 marks. 

4. Section C has 10 questions and each question carries 3 marks. 

5. Section D has 5 questions and each question carries 4 marks. 

 

SECTION –A 

1. The solution of the equation 2𝑥 – 3 =11 is: 

(a) 3    (b) 11     (c) 7      (d) 5 

2. The number of diagonals in a regular hexagon: 

(a) 4      (b)  5     (c)  0       (d)  9 

3. To construct a quadrilateral minimum no. of elements of quadrilateral that should be 

known are? 

(a) 10     (b)  8      (c)  5     (d)   3 

4. The one’s digit of the cube of 23 is: 

(a) 6    (b)  7      (c)  3      (d)  9 

5. ( 20 + 4-1) x 22  is equal to: 

(a) 2     (b)  3     (c)  4     (d)  5 

6. A machine in soft drink factory fills 600 bottles in 5hours. How many bottles will it will fill in 

2hours: 

(a) 120   (b) 180    (c) 150   (d) 240 

7. The factorisation of 49p2 – 36 is: 

(a) (7p+6) (7p-6)    (b) (6p+7) (6p-7)   (c) (7p+6)2 (d) (7p-6)2 

8. The smallest number by which 100 is to be multiplied  to make it a cube is  

(a) 0                       (b) 1                          (c) 100             (d)  10 

9. The value of 𝑥2 – 2𝑥 +1 when 𝑥 =1 is: 

(a) 1     (b)  2      (c)   -2                (d)  0 

10.  How many edges does a pyramid with square base have? 

(a) 6       (b) 4     (c) 8     (d)2 

SECTION – B 

11. Solve:  
𝑧

𝑧+15
  =  

4

9
 

12. How many sides does a regular polygon have each of its interior angles is 1650? 

13. Construct XY = 4.5cm & construct ∠XYZ =750. 

14. Find cube root of 91,125. 

15. Meeta saves Rs.400 from her salary. If this is 10% of her salary, what is her salary? 

16. Find 1532 – 1472 using a suitable identity. 

17. Find the side of a cube whose surface area is 600cm2. 
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18. Evaluate: ( 8-1 x 53) ÷2-4 

19. A train is moving with at a uniform speed of 75 km/hr. how far will it travel in 20 minutes? 

20. Factorise: 3m2 + 9m +6  

SECTION - C 

21. Three numbers are in the ratio 1:2:3 and the sum of their cubes is 4500. Find the numbers. 

22. The adjacent angles of parallelogram are (2𝑥-4)0  and (3𝑥-1)0  : find the measures of all 

angles of the parallelogram. 

23. Construct a rhombus whose diagonals are 5.2cm and 6.4cm long. 

24. The ages of Ram and shyam are in the ratio 5:7. Four years from now ratio of their ages will 

be 3:4, find their present ages. 

25. Arun bought a pair of skates at a sale where the discount given is 20%. If the amount he 

pays is Rs1600, find the marked price. 

26. Simplify 3𝑥(4𝑥-5)+3 and find its value for 𝑥=3. 

27. Using Euler’s formula , find the unknown: 

Faces   X 5 20 

Vertices 6 Y 12 

Edges 12 9 Z 

28. A milk tank is in the form of cylinder whose radius is 1.5m and length is 7m find the 

quantity of milk in litres that can be stored in the tank. 

29. Plot the points A(1,1), B(3,3) C(5,5,) and D(7,7) on a graph paper and verify  

 (i) if they lie on a line.  

(ii) if this line passes through origin. 

30. If 31𝑧5 is a multiple of 9 where z is a digit, what is the value of 𝑧. 

SECTION – D 

31. Vashu invested Rs.60,000 at an interest rate of 12% per annum compounded half yearly. 

What amount would he get?   

 (i) After 6 months                                        (ii) After 1 year 

32.  The lateral surface area of a hollow cylinder is 4224 cm2. It is cut along its height and 

formed a rectangular sheet of width 33 cm. Find the perimeter of rectangular sheet. 

33. Find the value of - 

             (a)  ( 
1

2
 )-2  +  (

1

3 
)-2  + (

1

4
)-2

 

             (b)  Find the value of  5m ÷ 5-3 = 55 

34. In a hostel of 50 girls, there are food provisions for 40 days. If 30 more girls join the hostel,  

how long will these provision last ? 

35. (a) Divide   (5𝑝2  – 25𝑝 + 20) ÷ (𝑝 – 1) 

       (b) Factorise (𝑥2 - 2𝑥𝑦 + y2) – 𝑧2 

ALL THE BEST 
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INSTRUCTIONS: 

1.  This paper consists of five sections A, B, C, D and E. 

2.  Section A has 10 Multiple Choice Questions and each carries 1 mark 

3.  Section B has 11 questions and each carries 2  marks 

4.  Section C has 9 questions and each carries 3 marks. 

5.  Section D has 4 questions and each carries 4  marks. 

6.  Section E has 1 value based question and carries  5 marks. 

 

Section -A    (1 X10 =10 m) 

1. The process of conversion of sugar into alcohol is called:- 

a. Nitrogen fixation  b. moulding  c. fermentation d. infection 

2. Which of the following can be beaten into thin sheets? 

a. Zinc    b. Phosphorus  c. Sulphur  d. Oxygen 

3. Black gold is:- 

a. Coal    b. Petroleum  c. Wood  d. LPG 

4. A tadpole develops into an adult frog by the process of :- 

a. fertilization   b. metamorphosis  c. embedding  d. budding 

5. Insulin hormone is released by:- 

a. Thyroid gland  b. Pituitary gland  c. pancreas  d. liver 

6. The correct expression for pressure is:- 

 a. F-A    b. F/A    c.FXA  d. None of these 



7. Friction depends on  :- 

a. nature of the surfaces in contacts  b. state of the material 

c. time      d. none of these 

8.  1 Hz is equal to ---- 
         
a. 1 vibration per minute                         b. 10 vibration per minute     
       
c.  60 vibration per minute                     d. 600 vibrations per minute      

9.  LED stands for:- 

a. Light Emitting Diodes   b. Light Effecting Device 

c. Light Emitting Device   d. Light Emerging Diodes 

10. Major earthquake occurred at Bhuj district of Gujarat in the year:- 

a.   1999  b.   2000  c.   2001  d.   2002 

Section -B       (2 X 11 =22 m) 

11. Name the causal organisms for the following   :- 

a. Dysentery           b. Typhoid 

12. Name two metals that can be cut with knife.  

13. Define fossil fuel. Write two examples. 

14. Give two differences between a zygote and a foetus. 

15. Why the human body undergoes several changes during adolescence? 

16. Why the shoulder bags are provided with broad straps? 

17. What do you mean by lubricants? Give two examples. 

18. When we put our ear to a railway line, we can hear the sound of an approaching train even    

when the train is far off but its sound cannot be heard through the air. Why? 

19. What is electroplating? 

20. Write one difference between Richter scale and other scales like decibel. 



21. Name two kinds of cells present in retina of our eye. Write their functions. 

 Section -C       (3 x 9 = 27m) 

22. List the changes in the body that take place at puberty. 

23. A blacksmith hammers a hot piece of iron while making a tool. How does the force due to 

hammering affect the piece of iron? 

24. Give reasons:- 

      a. Birds and fishes have special shapes. 

      b. Friction is both a friend and a foe. 

      c. It is difficult to walk on a soapy floor. 

25. a. Name the unit in which loudness of sound is expressed. 

      b. Why the voice of men, women and children are different? 

      c. How does noise pollution harm us? 

26. What will happen if we will be passing electricity through water? Design an activity to 

explain. 

27. Explain why a charged body loses its charge if we touch it with our hands? 

28. a) A night bird (owl) can see very well in the night but not during the day, while day light 

birds can  see very well during the day but not in the night. Give reasons for your answer. 

   b) Draw a labeled diagram showing how a plane mirror forms an image of a point object 

placed in front of it. 

 
29. Expand the following:- 

     a. GAP        b.WWF     c. CNG 

30. Draw the following:- 

     a. Ursa major and locate Pole star 

     b. Orion and locate Sirius 

 



Section -D      ( 4 X 4 = 16 m) 

31. a. What is fertilization? What are its types? Name them. 

b. Why do fishes and frogs lay eggs in hundreds whereas a hen lays only one egg at a      

time? 

32.   Define:- 

a. Endocrine glands b. Metamorphosis 

c. Thyroxin  d. Menopause 

33. Give reasons for the following:- 

a. Striking of matchsticks produces fire. 

b. More is the irregularity, more is the friction. 

c. Beautiful patterns can be seen inside a kaleidoscope. 

d. One should include vitamin A in diet. 

34. Why does the moon change its shapes every day? Draw  the different phases of moon. 

Section -E   (Value Based )                            ( 5m) 

35. Manisha with her friend has gone to school trip to Agra. She noticed discolouring of white 

marble of Taj Mahal. She was upset to see the disglorification of the historical monument. Then 

she asked her teacher for the reason. Teacher told her that it is because of Acid rain. Then 

Manisha decided to spread awareness about harmful effects of acid rain. 

a. What is Acid Rain?        1mark 

b. What changes in our daily life can prevent acid rain?   2marks 

c. Name the values depicted by Manisha.      2marks 

 

************************************************************ 
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ATOMIC ENERGY EDUCATION SOCIETY 
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Class: VIII         Marks: 80 
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Instructions: 
1. This question paper consists of five sections A,B, C, D, and E. 
2. Section A has 8 multiple choice questions (MCQs) and each caries 1 mark. 
3. Section B, each question carries 2 marks. (30-40 words). 
4. Section C, each question carries 3 marks. (50-60 words). 
5. Section D, each question carries 4 marks. (80-90 words). 
6. Section E, question carries 4 marks, for making the options on Map. 
7. Attach map inside the answer script. 

 

SECTION –A     

I. Select the appropriate option from given options against the questions.  (8×1=8) 

1. According to tribal people outsiders were known as __________. 
a) Middlemen  b) Violators  c) Dikus  d) None of these 
 

2. What was the immediate cause of revolt done by Indian Sepoys in 1857? 
a) Use of canons   b) Use of new machines  
c) Use of fat coated cartridges d) All of these 
 

3. Who is the presiding officer of the Rajya Sabha? 
a) Vice- President  b) President  c) Prime Minister  d) Speaker 
 

4. In the Court who represents the case on behalf of the state? 
a) Judge b) Police c) Witnesses d) Public Prosecutor 
 

5. When did Bhopal tragedy take place? 
a) 1982  b) 1983  c) 1984  d) 1985 
 

6. __________ is often called the backbone of modern industry. 
a) Iron  b) Steel c) Coal  d) All of these 
 

7. Who strongly felt that Indian languages ought to be the medium of teaching? 
a) Mahatma Gandhi   b) Jawahar Lal Nehru 
c) Rabindranath Tagore  d) William Jones 
 

8. Who published a book ‘Stripurushtulna’? 
a) Ramabai    b) Swami Vivekananda  
c) Ram Mohan Roy   d) TarabaiShinde 
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SECTION- B     

II. Answer any 9 questions of the following                           (9×2=18) 

 

9. Name any two steps that government has taken to conserve plants and animals. 

10. Write two reasons why Adivasis are becoming increasingly marginalized. 

11. Mention four public facilities which are provided by the government. 

12. What are the causes for uneven distribution of population in the world? 

13. What do you understand by the word marginalization? 

14. What was the role of the Planning Commission? 

15. Who were the orientalists? 

16. What was the demand of Rani Lakshami Bai of Jhansi that was refused by the British? 

17. Write any two reasons for land degradation today. 

18. What is meant by the term ‘industry’? 

19. What did the Muslim League resolution of 1940 ask for? 

20. List two Fundamental Rights in the Constitution that dalits can draw upon to insist that  

       they be treated with dignity and as equal. 

21.What is Birth Rate and Death Rate? 

22. What does Parliament consist of? 

 

SECTION- C  

III. Answer any 10 questions of the following                           (10×3=30) 

 

23. What objections did the sepoys have to the new cartridges that they were asked to use? 

24. What is the role of Defence Lawyer in criminal justice system? 

25. Why did Mahatma Gandhi think that English education had enslaved Indians? 

26. Write a note on the social ideas and works of Jyotirao Phule. 

27. Why did the scroll painters and potters come to Kalighat? Why did they begin to paint 

       new themes? 

28. What economic impact did the First World War have on India? 

29. Name three problems that the newly independent nation of India faced. 

30. What did Dr. Ambedkar mean when he said that, “In politics we have equality, and in 

social and economic life we will have inequality?” 

31. Why are people considered a resource? 
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32. The world population has grown very rapidly. Why? 

33. Do you think that the distribution of public facilities in our country is adequate and fair?  

       Give an example of your own to explain. 

34. What are the advantages to foreign companies in setting up production in India? 

35. What do we mean when we speak of law enforcement?  

      Who is responsible for enforcement?  Why is enforcement so important? 

36. What were the different reasons, people, had for not sending girls to school? 

37. How did the knowledge of ancient text help the reformers to promote new laws? 

 

SECTION- D  

IV. Answer any 5 of the following questions.                     (5×4=20) 

 

38. What problems did shifting cultivators face under the British Rule? 

39. Why does a democratic country need a Constitution? 

40. What are population pyramids? How do they help in understanding about the population 

of a country? 

41. Why do you think there are so few cases of private water supply in the world? 

42. How can laws ensure that markets work in a manner that is fair? 

       Give two examples to support your answer. 

43. Why did cotton textile industry rapidly expand in Mumbai? 

44. Why do Adivasi activists, including C. K. Janu, believe that Adivasis can also use this 1989 

Act to fight against dispossession? Is there anything specific in the provisions of the Act 

that allows her to believe this? 

 

SECTION- E       (4×1=4) 

 
45. On the given outline map of India locate and label the following: 

(a) First state to be formed on the basis of language  

(b) Chauri Chaura 

(c) The major hub of IT industry in India 

(d) Manchester of India        

 

 

 

 

 


